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On a regular basis (yearly) or when your install, repair, change something, make a new chart and do a
comparison to older data. By comparing results you may see differences that will alert you to something
in the system needing additional attention.

Keeping this information on file for each antenna and each band and being able to reference the
information will help you maintain your system.

Date:

Comments:

4.5

4.0
35
3.0
2.5

SWR.

2.0
15
1.0

SWR Ref Chart - Rev 0

Antenna: Band:

0

50

100 150 200 250 300 350 400 450 500 550 600 650
kHz

Copyright ©2015 DX Engineering

1200 Southeast Ave. - Tallmadge, OH 44278 USA

Phone: (800) 777-0703 - Tech Support and International: (330) 572-3200
Fax: (330) 572-3279 - E-mail: DXEngineering@DXEngineering.com




Dx DX Engineering
S.W.R. Calculator
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Sometimes something old is new, or something old is still
good. This is one of those items from the past that Amateur
Radio Operators can use to determine SWR.

Three sizes are included so you can have just the right one
in the tool box or ham shack.

Our suggestion - Laminate this page and cut out the chart
(or charts) you want to keep on hand.
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